RZMV (1) [3REY M 2FNIH8TO

(1] <O bVOBEER 382y ] [a ,[6], 2% 2mEEes ! !

([ <BARfE-T3ktY hekDE>
O a=(a;,a,) D&% ®
lal= f(a)*+ (a2)®

-

Z=(al ay) ,b=(b;,by) DL E

ab= Qiby + Az b2
<ESEEDZCEE> 2 L b ORTA O DX ab= [R[IZ]cm O
7 —&\—"’Z’
N 5 % = ——
XA?%%*&)%)K\ COSB IZ’HZ]
HE| X7 MIOEERHE alb<a-b=0
[2] R MVOBET TBEOEE] HTE5 | |
[ AB=[ JB-[ JA saMETII! j A 5
BRIABHAIL. EHECHDS T LHTE S, P
ZHERAELT ©

(z;imal,az B )#B5LE AB= OB~GA= (fy- Gy b= Go) )

=4, =3), 5=(2, HISHLT, Pl a-b=[ 7 | THh3. b=a+h (t13EH LT3,
a L pHRETHBLE, t=[17 ]| ThY, [B| BBhenBLE, t=[TF] TH5.
PAQ x5 T RE<, 2@ "3Ev. sz BRI
a-%- 375, IxI=]r6+7 = o5 = &
P=(4,-3)+t(2,1) I |=Jati = JE
= (4t+2t,~-3+¢t) ey
#5451 0=-@.F Z&%5T 0 ZT-"F
= Y(yr2t)—3(-3+t) =R (Z\*‘t"tj&‘))
O=2C+ct = xR
. t___ —
(17) D= 28+ &¢
= 2
Pl= J(4428)"+ (~341)? cote =t
=) St*iot + 25 1P= %tz
=[S (tr1)%4 50 =22t z-m 4t
_tz_l Z‘%d\ = 2§+/Ot+ff1
(=D

- E(t+1)+ 20
1= *i 2




ER O BHOLTHEEN 1 THZMELI, 35 A, B, CHH>T,20A +30B+40C=0

Bz UTW5,
(1) OB & OC mpstix , AOBC DE##i3: THhd.,
(2) #4 BCOEXIX Tho, (EEEK)

A —_— - —— Z

' (1) 'o’OB +é¢5_c”’= l——ZO/-\,

A 208"+ 24 58 -6C + 16150 = £ 157)
" ¢

7+ 2%0E-6C +16= ¥

B
7
DB -0C= —%
<SEAkr— ZBoc= 0 v, .
|08 = | e L T 7
|52 - RO Teglie] = x| C @

Y% _/_é_’
() |BCI= |oc - B[ /
= locl’~ 268-5¢ + |38)°
= =2 % (-F) +]
= I+—cfz+/=-g [“g‘é’[.-.g

9

<F(BB> AOBC & S SLLEPP &/

Be™= 1% "= 2xlx | x (-£)

Z _ 1F

= J+l+Z4 = 7 BC:—J;_—;
—




